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There are 3509 straw bags in the warehouse.
If 100 straw bags worth gold 387U 35U gnd silver 6™M"m¢ how much is it?
Answer. Gold 13630V and silver 14monme 7bu grin.
Method. Silver 6M°"™¢ divided by gold 60™°"m¢ gjyes ej 100™°",

Gold 3% js ei 750™°" So, gold 38™°¥ and ej 850™°".

This multiplied by 35.09 straw bags is gold 1363.2463v°Y,
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g "2: R ;ci-' There is 125%°ku of rice.
| R\ 7 7 1%oku of rice is worth 1koku 2to 5masu of 5oy,
| e;\’ 7, o % When you change rice for soybeans, how many soybeans do you get?
Z Lk Answer. 156%°%/ and 2t 5masu
ZF? %'ﬁg Method. 125%ku of rice multiplied by 1koku 2to 5masu of goy,
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There was three kinds of money which was called gold coin,
Silver coin, and copper coin. Mainly, Japan of east used gold coin

And west of Japan used silver coin. The country which used two kinds of coin in

one was rare. Different from modern paper money, several coin were made of
metal. Therefore trust was realized.

Then, when the person who lived in Osaka came to Edo, how did they do?
Ryogaesyo which was similar to modern bank was in Edo period and they

exchange the money there.
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Summary
This problem is when | realize the amount of rice,how much it?
Future issue
It had a hard time both understanding of the problem and typing word.
| wish | had work with counting time of completion.
Impression
| had a hard fight because changing the unit was very difficult in this

problem.
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